EARAROBEEIERT — 2 N— IBISH —F

2012128158 (£) sEHWLSH

Gl Y >%3mtE 5007 TF

(5] T8

‘ (%] ‘ [EmmEl  — | 4 (%) 2500 &

[A~&£] 17 :7,200,000  ~ 23 :2,900,000 § 337 :1,800,000 43 :1,100,000 3 5 j& :720,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
: £ 3 | HIDHE 2:42.3 2-2-2-2 [38.8| — 2 508 | mAlERAE (SEi)
15/10 2—HE= b T 0 =) Ca | EBAE
AZAZXATR B:A¥AaJIRy b X T O%S
= 5,8 4 4 | FlBEX 2:43.4 9-9-6-3 |39.1| — 1 476 | M EE5L (i)
2|11 | TV F— 57.0 @) (a) | R BEEA-—27357
L:wiNnNyBLhTr B:IL—LAThol—2X RIS
SNLS, = 3 | EHEEE 2:43.8 9-9-6-6 |39.5| — 4 468 | KER— (EH)
2V ¥ 5.0 2 1/2) (cay | PO
R:F1T AN B:TIARY YR HOMKS
@HLEN)—F4 b i3 gg?gﬁ% 2:(434).3 13-12-11-8 39.9 | — 5 tz? EE%&L €35
R:ZNAF¥1—)b B:hI/FTSR=-IL e ]
s it 4 | EFREE 2:44.4 13-14-12-8 | 39.8 | — 3 492 | ATTETE (i)
A—LILx > T4 4L * 57.0 (3/4) 4e) | @R O—LaL—s2y
XL THANAN B:S5T7—XL—> HEBS
2 5 4 3 | EHE 2:44.5 4-6-5-4 | 40.5| — 1 | 520 |A#iEt (E#)
77—t 55.0 (172) (+22) (B) ¥vOy bT77—~L
RV RYTYRAIR B:YFHINFTHYY [GE zse
. 44 | AAREF 2:45.0 1-1-1-1 | 41.6| — 6 508 | KTTIENE (i)
7ig|13| FA 7z Ak 0 ® © | B 57zt
R:V2RYZYAIR B:IA P ba—0OY ANt ]
S 4 5 | IEES 2:46.0 15-15-15-12| 41.0 | — 15 | 470 | EFiER GEH)
gl7l1a 7HoE—LW 0 ® v |EER
L:Hovs0-LIV B:vA4Y—INTFT T7VT5TT—L4
o o o3 | BRI 2:46.2 4-4-4-6 |42.4| — 10 | 556 |HIIAK (Ei#)
EH NEAEY AL 0 (3/4) (+2) | BHE
R:74H0 B:YHITI 77— L4
# 3 | AEiE 2:46.9 9-9-12-13 | 42.3 | — 16 | 430 |%HEBA (E#)
1018116 N Ry 55.0 (4) (o) |EEHS
L:ZFATd=IK B:AY/XT14—b KIF S
5 . 4 5 | HREIES 2:47.0 7-6-6-10 | 42.7| — 7 460 | FRE (EH)
11 7 avH¥1L>X 51;.0 (1/2) 0 R*SIEEH
R:y07% BFAITLRTA J—HrTr—L
. . R. L—7 . —6-6- — FHEEX (EH)
b 5| NZ BT (B] 5 5o 7 2.(417).2 7-6-6-10 | 42.9 8 ;1:342) %m%—
R:T7TRRa%LL B:YaUIy b BRAT7— L
- — B4 | BEER 2:47. 3-2-2-4 | 43.7| — 9 506 | —/ BEHF (F#)
1359 |77 NTATAT 57.0 (7E) Ge) | () HAL-ZA-x
L:URA7% B:drIINTAY (B) HBEa-KL—-ra>aE77
. NN :48. —-15-16- . — A& (EH)
14 g | ®@T7+ LR -4~ [B] IR 3 - e b f;) TS
LT N=h )= B:ZTV-—FT>O7 A AKX
-—n 44 | EHEER 2:50.3 4-4-14-14 | 45.5| — | 12 | 552 |EAEEEL (i)
15112 =~ 57.0 (514 Lo | FEAR
R:T7TVFLE BAHHI-> HE Em
S o 5 | FEEK 2:51.3 12-12-6-14 | 47.0 | — 13 | 526 |E2EHB (X#)
16/ 8 /15| ® h—=T7HR> T 3L/ 57.0 ®) (a) | BT E ()
R:F 4 N—H b= B b—THJEX N — 75
@ 71 L
) 51.3-38.9
NA>ZA L | 7.3-11.3-11.8-13.3-13.6-13.9-13.7-13.6-12.5-12.4-12.8-12.8-13.3
® I —F—@EBIERL
13=3r= 13,10,9(2,3,6) (7,5) (1,11,16)-15-(4,12)-(14,8)
2= = 13(10,9) (2,6) (3,7,5) (1,11,16)-(4,15)-12(14,8)
Gal=7r= 13(10,9)6,3(1,7,5,15,11)4(12,16)2,14-8
40—+ — (x13,10)-1(3,9) (6,11) (12,4) (7,5)14-16-(2,15)8
[ N3
BB 10 380H 714K 1-10 280M e E 1-5 600M RPEL:] 1-10-11 1,380H
8 B 10 1509 10-11 400M B = 1-10 620M B 10-1-11 5,780
1 160/ 1-11 580M B H 10-1 1,130
1 210H

ABICOVWTRDTEEERROODE. TR LIV,




